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4 FR G S 1 = AL H =
RIED IINFRAR 1.1X0.20X10.0 m3 2.2000 2.2
MR IINSLAEE 2.2-1.2 m3 1.0000 1.0
7% By (0.5X0.13+0.48 X0.105) X 10.0 m3 1.1540 1.2
A (RC-40) t100  10.50X10.0 m2 5.0000 5.0
EA 1:32240 0.34X0.03 X 10.0 m3 0.1020 0.1
< )LF 2V Ml
b 300%300%2000 |10.0+2.0 JIES| 5.0000 5.0
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g BHELEZLE (W)
ok oL _ 8 g
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200 1 D 1 200
BEW
] _BEW
T E %
& W D t h W
EE-1 Vo 150 165 5.1 365 565
EE-2 Vo 200 216 6.5 416 616
EE-3 Vo 250 267 1.8 467 667
EE-4 Vo 300 318 9.2 518 118
EE-5 Vo 350 370 10.5 570 710
EE-6 VU 400 420 1.8 620 820
EE-T Vo 450 470 13.2 670 870
100 m349
4 FR % H = BT H =
RIEY SN 0.565X%0.402X100.0 m3 | 22.7130 22.7
HMRT IINSLAEE 22.7-20.6 m3 2.1000 2.1
sy 0.565 X 0.365 X 100.0 m3 | 20.6225 20.6
HAW (0.565X0.365-1+4X0.165X0.165x3.14) X100.0 | m3 | 18.4853 18.5
FEBRERDER KA it T 18.5 m3 | 18.5000 18.5
TKE A2 ARVU
WEE L =VE ¢ 150 100.04.0 A< | 25.0000 25.0
WEE L VS| HEE L oV
FRIE L VU ¢ 150 100.0 m | 100.0000 100.0
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EE-1 Vo 150 165 5.1 365 565
EE-2 Vo 200 216 6.5 416 616
EE-3 Vo 250 267 1.8 467 667
EE-4 Vo 300 318 9.2 518 118
EE-5 Vo 350 370 10.5 570 710
EE-6 VU 400 420 1.8 620 820
EE-T Vo 450 470 13.2 670 870
100 m349
4 FR % B 2V BT H =
RIED IINFRAR 0.616X0.402X100.0 m3 | 24.7632 24.8
MR IINSLAEE m3
sy m3 | 24.7632 24.8
HAW (0.616X0.416-1+4X0.216 X0.216X3.14) X100.0 | m3 | 21.9631 22.0
FEBRERDER ke T 22 m3 | 22.0000 22.0
‘ TAGE A VU
WEE L =VE ¢ 200 100.04.0 A< | 25.0000 25.0

R L =V | BRI L =V
X T VU 6200  [100.0 m | 100.0000 100.0
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4 W PSR -1 E2V =X (A &
IRHED AN ST 1.36X0.324 X 100.0 m3 | 44.0640 44.1
HERT AN SN2 44.1-10.6 m3 | 33.5000 33.5
Pty (0.36 X0.27+0.162 < 0.054) X 100.0 m3 | 10.5948 10.6
SEMEA (RC-40) t150  10.36X100.0 m2 | 36.0000 36.0
T e — 5 /AU [0.1X2X100.0 m2 | 20.0000 20.0
2/7)—h 18-8-20BB  [0.36X0.1X100.0 m3 | 3.6000 3.6
it B MHIEFEAL10  [0.36X0.1X100.0+5.0 m2 0.7200 0.7
IR 6 150 100.0+2.0 7 | 50.0000 50.0
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4 W PSR -1 E2V =X (A &
PRIED AN ;Y 1.8 1.8X0.126 X 10 m3 4.0824 4.1
MR AN SN2 4.1-1.0 m3 3.1000 3.1
B - Asy 0.9X0.9X0.126 X 10 m3 1.0206 1.0
SEMEA (RC-40) t150 0.9 0.9 10 m2 8.1000 8.1
FU — % /NI (0.8 0.6 X 4+0.5X0.45X4) X 10 m2 | 28.2000 28.2
2/7)—h 18-8-20BB  [(0.8X0.8X0.6-0.5X0.5%0.45) X 10 m3 | 2.7150 2.7

(J500 4 #f H T-25

WMV —FvrEE | VA7 A47" (10 #1 | 10.0000 10.0
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0. 200
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o S REET. 38
3 - HOHERLO. 89
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o
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. | RC-40
o
0. 580
0. 780
1 fHT4Y
4 FR % H = BT H =
RIED IINFRAR m3 | 28.5000 28.5
HMRT IINSLAEE m3 | 39.7000 39.7
TR+ m3 1.0206 11.2
A (RC-40) t150  |0.78 X0.15 X 79.4 m2 9.2898 9.3
TR —i% NRIEEY 1((0.95+0.2) +2+(1.023+0.215)+2) X 70.4+0.2X2X9.0| m2 | 87.6576 87.7
((0.240.58) =2 0.95+(0.2+0.28) 2% 0.2) +2 X
avy)—h 18-8-20BB 70.4+0.2X0.2X9.0 m3 | 15.0912 15.1
H s 17°77/10m X 1.0000 1.0
KIEEANAT | WU IR = 1.0000 1.0




